trois fractions, ordre des opérations avec

parentheses

Nom Date: Note:
S C (6-6)+9 =
2 5
1 1 3 1 1 1
—_—F =) X — = —_— — — )X — =
(3 2) 4 (3 5) 2
3 9 9
-+ =)+9 = ——3)+9=
G+3) -3
1 1 2 11 1
—_ 4+ — —_ = (= — =) =
(3483 673
9-2)+6= Gy lo

2 5 2

www.snowmath.com



https://www.snowmath.com

trois fractions, ordre des opérations avec

parentheses

Nom: Date: Note:
31 3 23 3 L 6)=0 =
31,383 6-6)+9=0
2673 " 20 20

1 1 3 5 1111

—_ 4+ — —_ = = —_— = —_ = —
(37377373 37373715

3 9 2 9 1
24 2ys9=2 2 3)29=
573) 3 (573 6

11 2 1 11 1

3737 3 :G 3

71 1 3 1 1

_2)s6=_ =12 Sy dyx o=
O=-2)+6=2=1¢ 3737375

www.snowmath.com



https://www.snowmath.com

